H & 0l & AF S 2 Al A
02BEE A 3 5 UBHE|H JIEISESH, 2IILESSE|H A=
2 A=
HE: R AdHA
S XS F=HSAMS A (crop:mel)
M- - SA(3) - MRAY - BES (1;| Palgely | & A Hlns
A= 3,778,287 4,017,373 239,086
=2 43,450 23,450 20,000
[ 121,425 111,425 10,000
= 3,613,412 3,882,498 269,086
NI P! 3,559,430 3,798,644 N239,214
= 43,450 23,450 20,000
= 121,425 111,425 10,000
2 3,394,555 3,663,769 N269,214
XS FHEZINE A 3,559,430 3,798,644 N239,214
=2 43,450 23,450 20,000
[ 121,425 111,425 10,000
= 3,3%,555 3,663,769 N269,214
ASMH X2 163,520 208,240 AT
201 Lete | 158,820 195,740 136,920
01 Al22t2|H| 158,820 195,740 136,920
OAZF2SUFAIFA K0! 3 0¥ 0 1,000 A 1,000
OAZSUE L2 28I ARE ¢
33 o 0 500 A500
OAFSHTYTA L SIS a3 147,300 182,300 A35,000
“2E50F HETAF L SOIAD (HRl44
= F3d 8,000,000 8,000 12,000 24,000
-AFE2E01(B10F) SEZAF Y Sl (s
S22 AE 49,900,0002 49,900 61,900 A12,000
-HEAD SEETAF L BOIAD (HRl 44
= ad 19,400,000 19,400 20,900 A1,500
-AFRSQI(AID) BIEEA Y SIS [HEY
>4 AE 70,000,0002 70,000 87,500 A17,500
OD-DAS(HA=o5iot&el) A2k 2toldA 2ol
& 7,280,000& 7,280 7,700 N0
202 04| 3,200 11,000 A7,800
01 2oL 3,200 11,000 A7,800
OAEHR A0 & 3,200,000 3,200 11,000 A7,800
HELD HEIK 4,000 7,000 3,000
202 Ot 4,000 7,000 3,000
01 2oL 4,000 7,000 23,000
OAHFAIDAD F=ZF0H
A 4,000,000& 4,000 7,000 3,000
ZENSHX X 2 4,000 7,000 23,000
202 04| 4,000 7,000 23,000
01 2UHAH 4,000 7,000 3,000
OFsHR =X0Y| F3 4,000,000& 4,000 7,000 3,000
DEFHRZ XA 296,406 378,000 A81,5%4
402 QI2FXH=20IA 218,406 300,000 N81,594
01 QIR AISE R (XM T ) 218,406 300,000 N81,5%4




SN AED
Ba: K|2AL
SH9l: X% FHEHIHLAY (cie) 29
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
OBSxe Aaznel 223
A 181,000,000 181,000 200,000 19,000
OARS BEFY Au2RR| BX3
A7 37,406,000 37,406 100,000 £62,5%
ANTHZ B=E SHUSI(BEFS SBHA) 2,529,500 2,659,500 130,000
402 SI2FXF2 0 & 2,529,500 2,659,500 130,000
01 SI2EXHRARY 2 (KA THR!) 2,529,500 2,659,500 130,000
032 2372] S2l4N1E FHIBM
33 o2 0 30,000 £30,000
Oas ™Rl NZY= BM
33 o8 0 100,000 A100,000
EEETIL 171,644 177,444 25,800
202 048] 1,960 5,760 23,800
ETTT 1,960 5,760 23,800
OEYZDS o ZXOMY
33 1,980,0002 1,960 5,760 23,800
401 A& HIL20HY| 82,000 84,000 22,000
01 Altl 82,000 84,000 22,000
OSABDE L HAAE &3 L Hb| 62,000 64,000 £2,000
AL X BDS )
273 9,000,002 9,000 11,000 £2,000
Azl XL 8,980 10,080 A1,100
202 048] 8,500 9,600 A1,100
ETTT 8,500 9,600 21,100
OAESERIYS ZF 0|
27 8,500,000 8,500 9,600 A1,100
OITHS! YAIFNHE ZFE SR A 30,000 0 30,000
2 20,000 0 20,000
= 10,000 0 10,000
401 A8 L 20H| 30,000 0 30,000
2 20,000 0 20,000
= 10,000 0 10,000
01 Alt 30,000 0 30,000
OO0IME! UAIFENHE FEFEY
30,000, 0002 30,000 0 30,000
2 20,000 0 20,000
= 10,000 0 10,000
HRES (A=) 181,338 181,210 128
SHIE(A=D) 1,338 1,210 28
HAT BEAY B1E3 %8 860 28
802 12|t %88 860 28
JEREEETIEE! %! 823 128
020221 =E0129) #=ME TEAY HH
oy 9! O Xt 2 28,0002 828 700 128




